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QUESTION 1

Refer to the exhibit. 

Which configuration change must you make to block an offending IP address temporarily? 

A. Add the offending IP address to the system block list 

B. Add the offending IP address to the user block list 

C. Add the offending IP address to the domain block list 

D. Change the authentication reputation setting status to Enable 

Correct Answer: D 

Reference: https://help.fortinet.com/fweb/550/Content/FortiWeb/fortiweb-admin/blacklisting.htm 

 

QUESTION 2

Refer to the exhibit. 
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Which message size limit will FortiMail apply to the outbound email? 

A. 204800 

B. 1024 
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C. 51200 

D. 10240 

Correct Answer: A 

 

QUESTION 3

Refer to the exhibit. 

MTA-1 is delivering an email intended for User 1 to MTA-2. 

Which two statements about protocol usage between the devices are true? (Choose two.) 

A. User 1 will use IMAP to download the email message from MTA-2 

B. MTA-2 will use IMAP to receive the email message from MTA-1 

C. MTA-1 will use POP3 to deliver the email message to User 1 directly 

D. MTA-1 will use SMTP to deliver the email message to MTA-2 

Correct Answer: AD 

 

QUESTION 4

Refer to the exhibit. 
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What two archiving actions will FortiMail take when email messages match these archive policies? (Choose two.) 

A. FortiMail will save archived email in the journal account 

B. FortiMail will allow only the marketing@example.com account to access the archived email 

C. FortiMail will exempt spam email from archiving 

D. FortiMail will archive email sent from marketing@example.com 

Correct Answer: AB 
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QUESTION 5

Refer to the exhibit. 

It is recommended that you configure which three access receive settings to allow outbound email from the
example.com domain on FML-1? (Choose three.) 

A. The Sender pattern should be set to *@example.com 

B. The Action should be set to Relay 
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C. The Recipient pattern should be set to 10.29.1.45/24 

D. The Enable check box should be cleared 

E. The Sender IP/netmask should be set to 10.29.1.45/32 

Correct Answer: BDE 
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